Let us view a bipolar transistor plus
an emitter resistance as a four
terminal circuit as shown in the left
figure.

Obtain the Y (admittance) matrix
defined below for this circuit.

Calculate each element in the Y
matrix for
. =25Q, hj, =500 Q, hs,= 200




Obtain the Y matrix for the above equivalent circuit (r-shape
circuit).
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Consider a transmission line with the length | = 1km. First we
short-circuited the end and measured the impedance from the
signal source and obtained 0.6i 2. Next we opened the end and
measured the admittance from the signal source and obtained
4x1075i S.

What is the characteristic impedance of the transmission line?



